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Ql) Evaluate the energy store in the circuit shown in Fig.1 at t=2 mS Q ~ l O 

given that ii=O, ii=5Cos(1000t+30°):, ~=0.5 and L1=2 H. [10 %) ][..'L-~~ 
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Q4) In the circuit shown in Fig.4, if c=O evaluate V2• 
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Q6) Skech the magnitude of the admittance ~)=1J(2+4s) with s if s=O'+jO. 
. \ Jldl I [S %] 
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Q7) The input admittance Y(s) of a given a two terminal network is given 

as Y(s)=(s2+6s+8)/(15s2+4Ss), evaluate tl)eJcomplete respQ_n~e of the 
input voltage .v(t) if the input cµtt'ent is i(t)=15~ e-t . ' [15 %] 
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QS) Evaluates the poles and zeros of Zin of the circuit shown in Fig. 5[10 %] 

QlO) Evaluate iz(t) in the circuit shown in Fig. 7 by installing a suitable 
source across the points y and y'.Given that i1(0)=iz(0)=1 i. A~ [2.0%] 
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